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EXERCISE:

9. Which of the following are Expecled o be polar and which are expected to be nonpolar?
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10. Which of the lollowing molecules wil be

polar and which wil be nonpolar?
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15, Suggest a reason why liquid propane has a ver@wmsil  Whereas liquid glycerine has
very high viscosty.
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18, Bromlrk\ﬁﬁ 15 highly soluble in hexand{Cei &W-mwv ghtly

ingvater,) Why might this situation occur? h
19, What advantage might a molecule have as a solvent f it had a long nonpoler carbon chain ending with

an lonic group, such as CHoCH;CH,CH,CH,CH,CH,C00 N7 m\;f;ck L enls
20. Why can'ta nonpolar solvent dissolve & ionic compound p&— PRr Mapaink d,,,[{ !ty
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21, Why s the polar solvent watg aEle tﬂdissolve small amounts of nonpolar liquid pentane, CeH)?
. & : . ;
@ You have water, methanol (CHyOH) and mhanol@aumlaﬂewm@@ Which of
hesedfree solvents do you expect to dissolve the greaest amount of each of the following? '\
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